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Or it is also because the Chachomim persevered — TP MW N1 ONR

OVERVIEW

The X 13 explained the reason an 719X is not 772 n%y21, but rather (she marries 112
and) is "2 noy21, for the o°non insisted that the husband should rejoice with his
newly wedded maaox for three days. m»oIn explains how this answer does not
contradict the Xn>>72.

n1voIN asks:
= 171593 DIWN NYTHA NP RNI22 XN ITPY DIYN 9199199 2810 9550) 9NN ON)

And if you will say; but how can the X 3 answer that an 71259X is "2 nbyal
because of 17pw, but the xn>92 states explicitly that she is "2 n%v21 because of
the 07X% 71992 (and does not mention Y7pw)?!

NIDON answers:
= 991 RN WITD NN XMWY INNDT 990 v

And one can say; that according to this answer of 17w, the explanation of the

Xn»ma is as follows -
= 29NN N5*Y933 VNINY 15 1PV DIVN ¥IT9 'YVl NYYAN YWINNIA NNYI AN

‘An mmbX is married on ' and nb¥a1 on 'v’; the explanation for this ruling is

because of 17pw as it states explicitly in the other Xn>392 (quoted here in the X3) -
= 3PV MIPN NN B©NY NN D17 N9 DIVN 9NN ON)

And if you will ask that the 0°2011 should have set aside their enactment of Y7pw
in deference to the 2°37% ;771992, which is 712, and the 715X should be 72 nya1, the answer is
that the 0°1o17 -

$DTXY 1993 NN 33 YY) DININ TaY ywn XY
Were not concerned for the 2°37% 71572, since there is also the 278> 71272, which
was said on 'Y, therefore the 7127 is 12 n7yal.

SUMMARY
The 3P0 of 17pWw for the 7Mo% was well known (from other sources) and our Xn>12

!'See ‘Thinking it over’ # 1.
2 See ‘Thinking it over’ # 2.
3 mpoIn taught us previously (Xwim 71"7 8,2) as well as in the following (°8» 73"7) ‘00 that 1Tpw is a stronger 73PN than
1572 (therefore on account of 17w one is considered an X112y if he does not comply, but not because of 71372),
nonetheless MooIN here means to say that (perhaps) they never should have instituted the 710 of 17pw, and left it ‘72
because of 0%7% 7572
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had no need to mention it; it mentioned Q7X% 1373, to explain why we are not
concerned for 375 7o72.

THINKING IT OVER

1. Mmoo asks how can the X 1) say the reason for "a n%y21 is because of 17pw,
when the Xn»12 only mentions the reason of 27X? 7972.* Seemingly the same
question applies to the 771n3; the Xn>12 merely states the reason of 0377 11572, but
there are also the reasons of 2°71n2 niwv and 17w (as mentioned previously). Why
ask only regarding the 7n%X and not regarding the 791n2?1°

2. moon answers that by 719X the main reason is because of 17pw; however the
XN>12 mentions 27X? 71972, so one should not ask that we should set aside 17pw for
0°7% 1272.° Why could not have msoin answered in the opposite manner; the main
reason she is "2 nYy21 is because of 771972 and we also need 7P, so no one should
argue and say 'ma n7y21 because of 2377 707272!7

4 See footnote # 1.
3> See 0" .
6 See footnote # 2.
7 See X"wAmn.
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